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V/hen are too and enough used?

(» B \

Tne particle roo indicates excess, that is, the quantity or quality exceeds what is considered

nacessary.
@
The particle enough indicates that the quantity, number or quality of something is sufficient.
—— .
: ‘I‘— " L ” " (
oWo “too” , "enough” , “too many" or “to \
( a@ Iﬁb‘(ﬁ% e Com':a'!ete the sentences with “too” , “enough”, y o
\__‘ -t much®.
o . sas + & .
(2.) The air conditioning is -t a0 low. I'm freezing.

(b)) This basketisnotbig < nOy %_]\ \\’ for all the shopping.

¥
4’\. ™~ N

N\ e .
&) We have M @A é\fsouvenlrs.

= (d.) Yes, and I think there is ( 00 _MVL \"\ sugar in it.
(e.) Yes, but | don't think Il have '\_,O 0 ey C L\ .

@ We haven't got J( 00 ™[ C.[\ money for the expedition.

By {
@ {

D0 \Y carsand L QO MNVL !\ smoke from factories.
‘, :
(h.) This video clip is good e WAV s A | to win the contest.
df»
@ The electrical system in your house is ‘\\ O C} old.
(j-) Do we have % Do (W l' \ salmon for everybody?

@ You don't know him well \TQO m\ &}\ . to say that.

D Yes, but she talks el\()f\l%i 1\
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7 Answer the questions using “too”

; | (2) Why can't elephants jump?

o)

Becavse s

d) Why couldn't he drink the coffee?
Li 3 A R L ‘
Bec us € "&“\ I\’,QM\ co ‘EF’-E\Q | ‘&Oﬁ’ h OJ\-

v Answer the questions using “enough”. 'ﬁ

(a.) Why can't you buy a Ferrari?

O s J#&f ) ‘
B ecayte 1dont bave Bno Vg. Money Yo BVY Atedbu
‘b)) Why can't Sue lift 100 kilos? i
n:ut.“ t

C&oo\use Suve s no‘\"é g (\%\Q/\Dvg\n

(¢.) Why couldn’t Sam reach the cupboard?

R ecouse Qom 15 ngt tall e/\o\;ci\édf

d.) Why couldn’t she put on the dress?
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